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2 om 71352 H)
= o g =S( 4) = M M ECHH
B2E=) Wartd | ®and | S¥% | HE
Ark(171/300~3509) 2,323 2,109 214 10.15%
Hi (17H/650~700g) 3,798 3,645 153 4.18%
2(171/1kg) 1,408 1,387 21 1.51%
Hi 2=(1 27| /3kg) 4,239 3,799 440 11.58%
CHitH(15/S/1kg/2E 7HA) 2,456 2,655 199 -7.50%
20|(37H) 3,095 3,381 286 -8.46%
K| 07| (= 4F/2FE4/6009) 14,262 14,334 72 -0.50%
SET= SE71(10F2] /1kg) 6,944 7,026 82 -1.17%
(16E5) A 7[(m A/ HE LR /15 39,916 40,156 240 -0.60%
2| 07| (= &i4t/LAZH[/6009) 27,311 25,827 1,484 5.75%
=HZF(1 & /CHEH/307H) 6,836 6,634 202 3.04%
Z7|(10t2| /= 4t/15cm) 1,273 2,034 761 -37.41%
X (10F2|/=4E/80cm) 8,807 8,670 137 1.58%
DS01(10F2| /= 4k/30cm) 4,045 3,691 354 9.59%
HEf(10r2]/2H A|OFLF/40¢m) 3,860 3,907 47 -1.19%
Qd0j(10t2|/3-=/30cm) 4,523 4,686 163 -3.47%
A (20kg) 59,920 58,710 1,210 2.06%
2|2 = 4/1kg) 3,412 3,227 185 5.73%
LIt (1kg) 1,664 1,837 173 -9.42%
7t0r= (1kg) 10,719 11,186 467 -4.17%
A7t F (S EHE/1ko) 1,716 1,654 62 3.75%
2 ((152/300g/3 At JUﬂl 1,255 1,143 112 9.80%
M= AME82(18L/E7|E 6,809 6,791 18 0.27%
(1455) e 360mQ/ADH7.§) 1,441 1,429 12 0.84%
O 2= (19 500me/A 01 ) 1,549 1,500 49 3.27%
A (1Y 360me/2] Al 4,000 4,000 =3t
I3H’<(1 B 500me/2| &) 4,000 4,000 =23t
3|22 (L) 1,971 1,867 104 5.55%
ZL(1L) 1,883 1,714 169 9.86%
S(1L) 1,376 1,265 111 8.75%
70 21 A H| A EHKPE*HIU50~2009/%LHH/9|M) 12,000 12,000 H 3t
(28F) | A £(150~200g/=LiLt/2l4) 12,000 12,000 3t




